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NEW QUESTION 1
A document that outlines the scope of a project, specific deliverables, scheduling, and additional specific details from the client/buyer is called a:

A. statement of work.

B. standard operating procedure.
C. master service document.

D. service level agreement.

Answer: D

NEW QUESTION 2
The cloud consumer compliance team requires the IT department to patch and update cloud resources properly. Which of the following cloud service delivery
models will BEST suit this need?

A. SaaS
B. DBaaS
C. DRaaS
D. laaS

Answer: D

NEW QUESTION 3
Volume, variety, velocity, and veracity are the four characteristics of:

A. machine learning.

B. Big Data.

C. microservice design.
D. blockchain.

E. object storage.

Answer: B

NEW QUESTION 4
A SaasS provider specifies in a user agreement that the customer agrees that any misuse of the service will be the responsibility of the customer. Which of the
following risk response methods was applied?

A. Acceptance
B. Avoidance

C. Transference
D. Mitigation

Answer: C

NEW QUESTION 5
A business analyst is drafting a risk assessment.
Which of the following components should be included in the draft? (Choose two.)

A. Asset management
B. Database type

C. Encryption algorithms
D. Certificate name

E. Asset inventory

F. Data classification

Answer: AF

NEW QUESTION 6

Which of the following is a cloud service model that organizations use when their third-party ERP tool is provided as a complete service?
A. Public cloud

B. SaaS

C. Hybrid cloud

D. l[aaS

Answer: B

NEW QUESTION 7

Transferring all of a customer's on-premises data and virtual machines to an appliance, and then shipping it to a cloud provider is a technique used in a:
A. phased migration approach.

B. replatforming migration approach.

C. rip and replace migration approach.

D. lift and shift migration approach.

Answer:
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B

NEW QUESTION 8
Which of the following models provides the SMALLEST amount of technical overhead?

A. SaaS
B. PaaS
C. MaaS
D. laaS

Answer: A

NEW QUESTION 9
A human resources department is considering a SaaS-based human resources portal and requires
a risk analysis. Which of the following are requirements to consider? (Choose two.)

A. Support

B. Threats

C. Chargebacks
D. Vulnerabilities
E. Maintenance

F. Gap analysis

Answer: AD

NEW QUESTION 10
A company is in its second year of a three-year agreement with a cloud vendor. After the initial phase of the cloud migration, resource consumption has stabilized.
Which of the following would help the company reduce the cost of infrastructure?

A. Reserved instances

B. Pay-as-you-go

C. Spot instances

D. Bring your own license

Answer: A

NEW QUESTION 10
A report identified that several of a company's SaaS applications are against corporate policy.
Which of the following is the MOST likely reason for this issue?

A. Shadow IT
B. Sensitive data
C. Encryption
D. Vendor lock-in

Answer: B

NEW QUESTION 14
Which of the following BEST describes decreasing the resources assigned to a system to avoid paying for unused capacity?

A. Orchestration
B. Auto-scaling
C. Right-sizing
D. Scalability

Answer: C

NEW QUESTION 19
Which of the following are true about the use of machine learning in a cloud environment? (Choose two).

A. Specialized machine learning algorithms can be deployed to optimize results for specific scenarios.

B. Machine learning can just be hosted in the cloud for managed services.

C. Just one type of cloud storage is available in the cloud for machine learning workloads.

D. Machine learning can leverage processes in a cloud environment through the use of cloud storage and auto-scaling.
E. Machine learning requires a specialized IT team to create the machine learning models from scratch.

F. Using machine learning solutions in the cloud removes the data-gathering step from the learning process.

Answer: AD

NEW QUESTION 20

A company wants to migrate mission-critical applications to the cloud. In order for technicians to build, decommission, and perform other routine functions, which of
the following cloud characteristics would BEST satisfy this business requirement?

A. Self-service

B. Elasticity
C. Broad network access
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D. Availability

Answer: A

NEW QUESTION 25
A company wants to process a batch job in a faster, cost-effective manner. Which of the following is the BEST solution?

A. Implement right-sizing.
B. Increase CPU usage.

C. Utilize spot instances.
D. Add storage.

Answer: C

NEW QUESTION 26

A cloud administrator configures a server to insert an entry into a log file whenever an administrator logs in to the server remotely. Which of the following BEST
describes the type of

policy being used?

A. Audit

B. Authorization
C. Hardening

D. Access

Answer: A

NEW QUESTION 29
A company is migrating its e-commerce platform to a cloud service provider. The e-commerce site has a significant number of images. Which of the following is the
BEST storage type for storing the images?

A. Object
B. Cold
C. File
D. Block

Answer: A

NEW QUESTION 32

An online retailer wants to ensure its inventory for the holiday season is correct. The company does not have a large IT infrastructure or staff to collect and analyze
sales information, customer analytics, marketing information, or trends.

Which of the following cloud services will help the company analyze these metrics without a large investment in human capital?

A. Containerization
B. Big Data

C. Microservices
D. Blockchain

Answer: B

NEW QUESTION 37
Which of the following is the cloud storage technology that would allow a company with 12 nearly identical servers to have the SMALLEST storage footprint?

A. Capacity on demand

B. Compression

C. Software-defined storage
D. Deduplication

Answer: C

NEW QUESTION 42

A company has a perpetual license for a database application. Which of the following is the MOST cost-effective option when moving to the cloud?
A. Fixed

B. Subscription

C. EULA

D. BYOL

Answer: D

NEW QUESTION 44

A vendor stipulates it will provide incident response within two hours of a severity level A incident.

Which of the following does this describe?

A. Maintenance agreement
B. Managed service agreement
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C. Operating level agreement
D. Service level agreement

Answer: D

NEW QUESTION 49

An organization plans to keep three of its cloud servers online for another nine months and a fourth server online for a year. The current pricing is $200 per month
per server. The cloud provider announced the sale price of $1,500 per year per reserved instance.

Which of the following represents the cost savings by converting all four of the cloud servers to reserved instances?

A. $900

B. $1,800
C. $2,400
D. $3,600

Answer: B

NEW QUESTION 52
An incident response team requires documentation for an email phishing campaign against a company's email server. Which of the following is the BEST resource
to use to start the investigation?

A. Audit and system logs

B. Change management procedures
C. Departmental policies

D. Standard operating procedures

Answer: A

NEW QUESTION 57
Which of the following results from implementing a proprietary SaaS solution when an organization does not ensure the solution adopts open standards? (Choose
two.)

A. Vendor lock-in

B. Inability to enforce the SLA

C. Lack of technical support

D. Higher ongoing operational expenditure
E. Integration issues

F. Higher initial capital expenditure

Answer: AE

NEW QUESTION 59
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